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(1E81)—2) [2581)—7%')

IEGL | B3| F—L |BEES K4 BRI | B | F—L |EES K4

1652 | 208 | 28K 7 |KXE #HE 1 | 133 |[fAIK| 16 |HJIl FX
261 | 13m [#AKX]| 10 |&HF EA 260 | 128 |®FKX| 11 [K&B B3
ML | 121 |ERK| 7 |XF & ML | 9= |fBI K| 30 |FIl K&
M | 9| |[EMK| 22 |RkE A# 3L | 9| |FHEKX| 11 [FE EEK
5 | TR |AAX| 9 |[FF #BA 561 | 88 |fBIK| 22 |&£F HE
56 | 7m | BWX| 21 (AKX BEE 6 | 62 |fBIK| 33 |RiE %

L | 6m |AKRXK| 30 |/MNE HRE L | 5m |FHEKX| 16 |FHE FHF
8t | 5m |ERX| 3 [FHIl FE5h 8 | 48 |BI K| 7 |[H@E %

8z | 54 |EEX| 10 | EXB ¥®A 8fii | 4m |FEX| 10 [EE &%

8L | 5m |EfEX| 11 |FHH th—H 86 | 4m |[EFK| 14 [IUFR fmAER

8fit | 5m |FRK| 25 [ KB &BE ML | 3| | X| 8 |HHE EIE
8fi | 54 |[deREX| 7 |#EL Bz M| 3| |8I K| 9 |F FE
1367 | 4= |FREX| 2 [#H BEA 1| 3= |$8I K| 11 |KF0 BAHSA
136 | 4= |dEBEX| 16 |RE &KX 1MeL | 3:m |BIK| 15 |#L &KX
136 | 4= | deREX| 28 |FHFF B ML | 3| |$BIK| 19 |5H) #X
13 | 4m | FRK| 10 |FEE B ML | 3| |8 K| 28 |IU #=
1362 | 45 |[#¥AX| 11 [58 BEX AL | 3| |#HEKX| 7 [#&H R
186 | 3m |EREK| 5 |BEEY = ML | 3| |&RXK| 11 |[RB 17F
18 | 3m |EfRK| 9 |M MF Miz | 3= ||RK| 20 |HR EHiE
18 | 3m |#HEKX| 6 |&5H B 20 | 2m |fBIK| 18 |=# @
186 | 3| |#FHBEX| 11 |EH BN 206 | 28 |fBIK| 24 |xE BA
186 | 3m |#FEKX| 18 |FH —5 2062 | 2/ |FTEX| 6 |AP =
186 | 3= |dEREX| 11 |#H & 2067 | 28 |$TEEKX| 14 |AHO BEER
1861 | 3= |dbBEX| 25 | KRB FW 2062 | 2/ |ETEKXR| 25 |IUAR A
1867 | 3= |#FHAK| 3 |BEEk BX 2062 | 28 |f@HK| 11 |IREF B
18 | 3m |#FHBK| 6 |[E+E X 2067 | 2 |E£FEK| 10 | KZE
186 | 3m |#FHBK| 16 (UK FEF 2062 | 2m | EFEXK| 25 |[/MRE BhH
186 | 3= [fEMXK| 23 |Bik &KX 2061 | 2m |€£%¥K| 35 |BH E
186 | 3= |HWaARK| 6 |1 # 20061 | 2@ |®IRK| 21 |=B EXKER
18 | 3m |#AKRK| 14 | K 2060 | 28 |EI K| 15 |5RB @3
18 | 3= |#AKXK| 16 |F# =X 20 | 28 |E£I K| 16 |t EXRER
186 | 3% |EBWXK| 2 |EW K& 26| 14 |[f8IK| 20 |85K B
181 | 3m |EBWX| 15 |FH &t 26| 18 |fBIK| 23 |[H =t
ML | 28 | EEEKX| 4 |KRIEF EH 26| 18 |[fBIK| 29 |EI #%
34461 | 2 | BFEKX| 10 |FHE Mt 206 | 18 |FEX| 3 |#EE FA
L | 2| | BREKX| 22 |[BBR BHE 26| 1R |FEX| 8 B
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(1E81)—2) [2581)—7%')

IEGL | B3| F—L |BEES K4 BRI | B | F—L |EES K4
G | 28 | EBEK| 29 |[f2E EH 20 | 1R | FEX| 17 |&E B
ML | 28 |ERK| 2 |[HEA K# 2| 1R |f@HFX| 4 |Af ER
34461 | 2 |ERK| 8 |FIH &K 2L | 1= |fEHX| 7 |HH H
M| 2 |EEK| 17 |ELXH HX 201 | 1R | fBHKX| 22 |m) [l
M | 2 |ERK| 19 |BEE K 2| 1R |FEX| 6 |FK &
46| 2| |FEEK| 8 |B EE 2| 1R |fREX| 18 |[AEH X
461 | 2m | HFEEKXK| 10 | KX EEE R | 18 |£FX| 7 |EHE FE
MG | 2\ | FREKXK]| 15 |HEE S 261 | 1\ |E£FKX| 13 /NIl BFE
34GL | 28 | FEEK| 20 |&kEE WEE 206 | 181 |£FXK| 19 |&#H F—H

3Mu | 2m | FRK| 8 |[HO FEKXER 26| 1= |EFKR| 23 |Min BE

ML | 2m |ERBK| 11 |BE E 2062 | 1/ |®RXK| 8 |KF HEk

ML | 2 |[EMK| 4 |EE F 26| 1= |ERK| 9 |hE F4&E
4GL | 28 [fEMNK| 29 |hOER it 2 | 18 |E£RK| 10 |lRE FE
ML | 28 |BWK| 7 |HHA 7= 261 | 1R |EIRKX| 12 |#% #HXK
MG | 2 | BWXK| 9 |EBR {“HE 26 | 18R |E+IRK| 19 |Fith &
526 | 1R | EEX| 2 |8RH &Z 20| 1R |®RK| 23 |[KE RS
52 | 1= | 2BKX| 6 |/hlU HE 2L | 1R |E+IRK| 26 |HU %
521 | 1R | 2BFEKX| 8 |EHEk &% 2G| 18 |£I K| 8 [HIE &
52 | 1R | 2BK| 9 |fAH #X 26| 187 |£I K| 9 | BF
5267 | 1| | EBX| 11 |[#iK —2ZB) 26 | 1| |EIK| 11 |[/Mk BFE
526 | 1R | BFEX| 24 |#\H RE 26| 18 |£I K| 17 |AE BX
526 | 1= |EfRK| 6 | BN 26| 1= | EHXK| 11 |fB EX
5261 | 1R |ERK| 13 |B &3 261 | 1= | EFHXK| 16 |[RAJI FO&EE
521 | 1R |EfEK| 14 |HiiR WEF 26| 1= | EHXK| 19 |BE BX

5261 | 1/= |Ef@K| 16 |#8H A

5261 | 1= |EfRK| 20 HEAK &

5261 | 1= |Ef@K| 25 |B#E AKX

5261 | 1= |EfRK| 27 |AH X

52061 | 1m | FREK| 3 |BKX E

52 | 1R | FTEK| 9 |ARH EA

52061 | 1m | #FEK| 14 |HLE W

521 | 1= |dLREX| 3 |BHEF Et
52 | 1= |dLEEXK| 4 |HM #HiE
5261 | 1= |dLREX| 5 |=IE B
52 | 1= |JLfEX| 6 |AH B

52 | 1= |dLREEX| 9 |[#aH B
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[1&8)—%]) [2&R1)—%')
IBGL | 1B msk| F—L [EHES K& Bz | B msk| F—L [&ES K&

525 | 14 | dLBEX| 10 |BiFm &

526 | 1= | deBEX| 19 |[EE Jno—)—

521 | 1/= |dEREXR| 24 |EHH X

5261 | 1/ | #FBAK| 21 |FIAH BE

52 | 1R |FRK| 22 |BK BE&E

5262 | 1/ |[fEMK| 3 |BEH FE

52 | 1= | BMX] 7 [PF =X

52 | 1= | fEMX| 11 [+8fE FEAl

526 | 1/ |[{EMK| 18 |HFA EEF

52 | 1R |WAXK| 2 [f&l FE

52 | 1R |WAK| 17 |FH 5

520 | 1m |EWK| 5 [1B& XiE

5261 | 1/ | BIWWXK| 6 |[fEE Fi#t

52 | 1= |EWX| 10 |iFdk X

5260 | 1/ |EWK| 20 |HKE Z=KHA
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